[bookmark: _GoBack]1.
[image: C:\Users\Michael\Downloads\IMG_20170227_111713.jpg]
3.
[image: C:\Users\Michael\Downloads\IMG_20170227_112457.jpg]
4. [image: C:\Users\Michael\Downloads\IMG_20170227_113047.jpg]
5.
[image: C:\Users\Michael\Downloads\IMG_20170227_113620.jpg]
6.
[image: C:\Users\Michael\Downloads\IMG_20170227_114040.jpg]
7.
[image: C:\Users\Michael\Downloads\IMG_20170227_114557.jpg]
8.
[image: C:\Users\Michael\Downloads\IMG_20170227_115410.jpg]

9.
[image: C:\Users\Michael\Downloads\IMG_20170227_115721.jpg]

10.
[image: C:\Users\Michael\Downloads\IMG_20170227_155436.jpg]
image6.jpeg




image7.jpeg




image8.jpeg




image9.jpeg
I?.= /‘o:N\ £ onI
A58

5 = (& K1o=7)(100 )(2 )

B= 2.5) mT:

" The 12 cM porton
| does noi affec ¢

the field





image1.jpeg




image2.jpeg




image3.jpeg




image4.jpeg
North

200 mT





image5.jpeg
N @1 D)
“q/g’ (5 x10c)( 04 T)
= pd!l m




